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J0s
DOY2][5] = length[vs, ve] = o

DY2][5] = minimum(Jength| v, vi], length] v,, v, v; |
= minimum( «, 14)= 14

DAN2)[5]1 = D2][5] = 14

DAN2)[5]1 = D*2][5] = 14

Figure 3.2 » A weighted, directed graph.

DAN2][5] = minimum(length[v,, v, vs |, length[ vy, v, v; |,

length vy, v., vy, v |, fengthl vy, va, vy, V5 ])
=minimum(14, 5,13, 10)=5

DA2][5]1= DM2][5] =5
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DO = W
for (k=1; k<= m, k++)
compute ¥ from D=1
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D1/ = minimum( D%V 4[], DEY[A[ k] + DEDK])
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DI[5][4] 4o

D[2][4] = minimum( DO[2](4], DO[2][1]+ DO[1][4] )

=minimum(2,9+1)=2

DY[5][2] = minimum(D?[5](2], DV[5][1] + DO[1][2] )

= minimum(w, 3 + 1) =4

Figure 3.2 » A weighted, directed graph.

DV(5][4] = minimum(D?V[5][4], DV[5][1] + DO[1][4] )

=minimum(w, 3 + 1)=4

D2[5][4] = minimum( DV[S][4], DV[S][2] + DV[2][4])
=minimum(4, 4 +2) =4
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for (7= 1; r<=m, H+)
for(j=1; j<=m j+t)
DO[A[/]= min(D*V[A[] D*V[A[&] + DEDIA):
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DY =W
for (k= 1, k<= m, ++)
for (r=1; r1<=m H+)
for (y= 1, y<=n, j/++)
DOL[/]1= min(D4D [ DDA+ DEDLA):
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DOy = mmimum( D%V 7], DAV & + DEDLA])

D&=1) D&

0

DK = minimun( DDA, DADIKA + DDA = DDA ]
0

DO[A[&] = minimun(D*D[A[&], DAV + DEDIA[A]) = DADIA ]
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Figure 3.16 & The optimal tour is [vy. va. va, va, vil.

lengthV,,V,, V5, V,, V] =22
lengthV,,V;, V., V,, V] =26

lengthlV,, V,, V,, V,, V| =21
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DIV.[A] = length{ v, v, 1] = o0

Figure 3.16 ® The optimal tour is [v, vi, va, v2, vil].
D v,|[A] = minimum( fengthl v, vy, v, v|], length| vy, v, v; v])

= minimum(20, o) =20
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1V, Vi, V)

L;[uz][{vg}]=migiﬂgn(ﬂi3][;]+ Ov v =1v,iD

= WI31[2]+ Dl v, ][#]=7+1=8
Dy, J{tva 1= mimmum(WEA][ ]+ DLy, [T =1, 30)

= W4][2]+ Dlv. ][9] =3+1=4
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(Va, Vi, V)

DO 631 = minimum(WI2]L/1+ DLy v} = 1,3
= W21[3]+ DIw; ][#] =6 +o0= o0

DLv ][ }1= minimum(WI4IL 1+ DLy, 1L = v, 1)
= W31+ Dlv, ][9] = o0 =0 = o0
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|2 3 4 DivIitwl=minimam(WEET+ DI - D)
I = WI2][4]+ Dlv,][#]=4+6=10
3| e 70 8 DOuIltw)]=minimum(WEILT+ DLy Itk - b))
e 3= 0 = WI3][4]+ Dy ][] =8+6 =14
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const number W][], = K n
index AL, kl

number&s menfengti)

{ L n) n—1
index £ & k) k-1

number Df1..n][subset of V- {v,}]

@)= wil. a (k) g k-1 k
for(k=1. k<=n-2; k++)

-1
=n2" n=>1 .l e

for (all subsets 4 € V- { v} containing & vertices)
for (#such that s# 1 and v;1s not in A)}
D{A[A] = minimum( WA+ DA - (v ),
JiV,EA
A /][ A] = value of jthat gave the minimum;
;
D[ V= {v}] = minimum (W1][/]+ DIV = (v, v
2=y=n
Al V- {v;}] = value of sthat gave the minimum;
mumlength=D[1][ V= {v; }]:



Loy smsg aoli

Ol ass sly (Hls) (D338

Ijj‘)l.Lin}hL_ﬂﬁn_Li‘J:_-J JA.R.HJ}L*J:JLal J.a.c- .
J‘ﬁ_}iwﬁ_j.‘:l.ﬁ;ﬂ:ﬁj_”'gaj'-J..'-'l .

T(n) = E(n— 1— k)k(nk_lJ b Sk

1},:”_1— 111—2
(n—1-k) L =(n-1) K

— T(n)=(n-1 }f k[”; 2]

(n) = (-1)(1-2)27 € O(27)

1alosl> ;HL.:T._ .
Mﬁjzz W !12”‘1 = m2n = 6)(1}2”}



Loy smsg aoli

B 3380 33193 6 oRaI Odis G

Hrd i g 0K Ly (6l Sy Jl s sl Ll o
WES Ay Jed Cad e ol (gl paale @
338 7S b g s plnil |y pabela g5 Y 4 he e S S 8 -
3135 0 a:b_-d.‘)fu_ﬁi_g:;fhcﬁ.;_.d ol »
g b o0 S ) —
(20=1)! us=19! us=3857 J.
Ly o aalip o2 ) S0 il —
(20 — 1)(20 = 2)2203 ys=45 ot
20 %220=20,971,520 &7 s

Y S8 e Jl 5 b s a2, Sl 60 b g sluws S
.55l



